Stoichiometry

Mass ( Mole 

Conversions
1.   Methanol, CH3OH, is used in the production of many chemicals.  Methanol is made by reacting carbon monoxide and hydrogen at high temperature and pressure.

CO (g)  +  H2 (g)   (      CH3OH (g)

a. How many moles of hydrogen gas are needed to produce 6.00x102 g of       CH3OH?

b. How many moles of carbon monoxide gas are needed to produce 30.5 g of CH3OH?

2. Oxygen is produced by the reaction of sodium peroxide and water.

Na2O2  (s)   +  H2O (l)   (    O2 (g)  +   NaOH (aq)

a. Calculate the number of moles of oxygen gas produced when 45 g of Na2O2 is reacted.

b. Calculate the number of mole of NaOH produced when 6.54x103 g of H2O is reacted.

3. In a spacecraft, the carbon dioxide  exhaled by astronauts can be removed by its reaction with lithium hydroxide (LiOH) according to the following chemical equation:
CO2 (g)  +  LiOH (s)  (  Li2CO3 (s)  + H2O (l)

a. How many moles of lithium hydroxide are required to react with 45 grams of CO2?

b. How many moles of CO2 is removed in the above reaction when 350 g of water is formed?
